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To view any currently running Terminate Stay Resident (TSR's) programs you could type

A     Memory

B     MEM

C     LIST Memory

D     None of the above

Answer : B 

Which type of cable is use with rj-45 connectors?

A     10base2

B     10baseT

C     10baseFL

D     10base45

Answer : B 

During the normal PC boot process, which of the following is active first?

A     CMOS

B     RAM BIOS

C     ROM BIOS

D     Peripheral Devices like Mouse, keyboard

Answer : C 

The ESD wrist strap is designed to protect PC Components or Service Technicians?

A     PC Components

B     Service Technicians

C     Both (a) and (b) above

D     None of the above

Answer : C 

Which is the easiest component to environmentally recycle?

A     Toner cartridges

B     CMOS batteries

C     Motherboards

D     Cathode ray tubes

Answer : A 

You were installing an application in Windows 95, and the computer crashes, what do you do?



A     Press alt + Ctrl + delete, twice

B     Press alt + Ctrl + delete, and end task

C     Press the reset button on the computer

D     Turn off computer and boot from a floppy disk

Answer : D 

When configuring a new network interface card for installation, which of the following would be a valid I/O address?

A     378

B     2F8

C     3F8

D     360

Answer : D 

Which of the following FRUs would be considered both an input/output device?

A     Video board

B     SCSI host adapter

C     System board CPU

D     None of the above

Answer : B 

Which provides the fastest data access time?

A     RAM

B     ROM

C     CD-ROM

D     Hard disk

Answer : A 

Pick the correct choice for the 8088 CPU.

A     16 bit word size, 8 bit data path

B     8 bit word size, 8 bit data path

C     8 bit word size, 16 bit data path

D     4 bit word size, 8 bit data path

Answer : A 

A hard disk is divided into tracks which are further subdivided into:

A     Clusters

B     Sectors

C     Vectors



D     Heads

Answer : B 

If the memory slots have 30 pins then the chip is a?

A     DIMM

B     SIMM

C     SDRAM

D     None of these

Answer : B 

ISDN uses _______ technology.

A     Only digital

B     Digital and analog

C     Only analog

D     Neither digital nor analog

Answer : A 

Which is NOT typically a Field Replaceable Unit?

A     System ROM

B     Power supply

C     System chassis

D     Video controller

Answer : C 

Pick the correct choice for the 80386SXCPU

A     16 bit word size, 16 bit data path

B     32 bit word size, 16 bit data path

C     8 bit word size, 32 bit data path

D     32 bit word size, 8 bit data path

Answer : B 

All Operating Systems get their total memory initialized from?

A     CPU

B     ROM

C     RAM

D     BIOS

Answer : D 



What is the best ground for a conductive work bench?

A     AC outlet

B     Ground to bend

C     To another device

D     Chassis ground

Answer : A 

What device prevents power interruptions, resulting in corrupted data?

A     Battery back-up unit

B     Surge protector

C     Multiple SIMMs strips

D     Data guard system

Answer : A 

What does the acronym RTS represent?

A     Required to save

B     Ready to start

C     Request to send

D     Right to separate

Answer : C 

With respect to a network interface card, the term 10/100 refers to

A     Megabits per seconds

B     Protocol speed

C     A fiber speed

D     Minimum and maximum server speed

Answer : A 
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